Intermediate Algebra - Solutions


Factor Completely:

	1.
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	Solution:
	[image: image2.png]2(x-8)(x+6)





	
	
	
	
	

	
	
	
	
	

	2.
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	Solution:
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	3.
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	Solution:
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Graph the line:

	4.
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	slope = 1/3

	
	
	
	y-intercept = 2
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Solve the systems:

	5.
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	Solution:
	(-1, 4)

	
	
	
	
	

	
	
	
	
	

	6.
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	Solution:
	(-5, 3)


Simplify:

	7.
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	Solution:
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	Solution:
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	Solution:
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	Solution:
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	11.
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	Solution:
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	Solution:
	[image: image21.png]PR

2





	
	
	
	
	

	
	
	
	
	

	13.
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	Solution:
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	14.
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	Solution:
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	15.
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	Solution:
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	Solution:
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Solve for x:

	17.
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	Solution:
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	18.
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	Solution:
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	or
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	Solution:
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	Solution:
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	21.
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	Solution:
	x = 5, -3
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	Solution:
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	Solution:
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Show an equation for each problem and solve:

24. A cashier has $1.75 in nickels and dimes. In counting the nickels, she finds there are one less than twice as many as the dimes. How many nickels are there? 

Solution: 
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17 nickels 

25. A tank can be filled by one pipe in 21 minutes and by another pipe in 28 minutes. How long will it take the two pipes running together to fill the tank. 

Solution: 
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12 minutes 

